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Grammar:

Dialogues:

“A typical day”

Expressing when you’re not impressed
The Past Tense

The suffix -ca

Double-stem verbs

Verbs and stress

JAuanor
[eHb KakK AeHb A typical day
Hécra: |1 | Mmuma, uto ThI nénan Buepa? Misha, what did you do yesterday?
Muma: |2 |Yro s aénman? Huuerd oco6ennoro. S umrai, What did I do? Nothing special. I read, wrote
3 | MMCAJ MHACHMa, TYJIST B MAPKe, 3aHUMAJICS, (some) letters, strolled in the park, studied,
4 | rmamun OprOKM, KypHII, CTOSUT Ha TOJIOBE, CHIET U ironed (my) pants, smoked, stood on (my) head,
5 | cMOTpén TeneBru3op, roTOBWI 00¢n. JleHb kak sat and watched TV, made dinner. A typical
6 |deHb. day.
Hacra: |7 | A gro némana tBos crapmas cectpd Hans? And what did you older sister Nadya do?
Myma: |8 |[Hang cuaéna na nuBaHe U MUJA mioxoe, AeméBoe | Nadya sat on the sofa and drank bad cheap
9 | HeMémKoe IMBO, méjaa kuralickue nécuu. OHa German beer, sang Chinese songs. She listened
10 | 9yTh-UYTh CIIyIIANA PAJUO, a TOTOM OHA J¢aa to the radio for a while and then she did (her)

11

JIOMAIITHEE 3aJAHUE.

homework.

Hacrs: 12
13

A TBOM Mudaime Opates Buts u FOpa? Uto onn
nénanu? I'ne oun OBLIA?

And your younger brothers Vitya and Yura?
What did they do? Where were they?

Myma: |14
15
16
17

Onri 68utn B Heto-Mopke. TaM OHA rymsim B
mapKe, MK Xopo1ee qoporoe GppaHIy3cKoe BUHO,
CMOTPENH UTATBbSIHCKUH QUIBM, TOBOPUIIH 110~
HEMEIKH, KyPWIN U TIEITN PYCCKHE TTECHH.

They were in NY. There they strolled in the
park, drank good, expensive French wine,
watched (saw) an Italian film, spoke German,
smoked, and sang Russian songs.

Hacrsa: 18

Huuero ce6é!

Wow!

CioBapnb

X
2 nuca+

write (Present Tense isn’t what you expect. Use in Past only for now)

3 | rymsid+

take a walk; stroll (This is a regular aii+ verb, but instead of a, there’s 11.)

3 | mapk

park

JIEHb KaK JI€Hb

a typical day (See grammar explanation about this construction.)

{mpii+ / nﬁ+}

drink (See grammar explanation about bizarre notation.)

8 | meméBbIi cheap

9 | HEeMELKUI German (This “strange” word is related to the word “mute” - because the Slavs
[not just Russians] who encountered the Germans thought they didn’t know how
to speak ‘correctly’)

9 | {moii+" / mé+} sing (See grammar explanation about bizarre notation.)

16 | MTAIBAHCKUI Italian (Note that there is a b — and not an u — following the 1.)

16 | hHIBM film; movie
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20-1 ypok FpammaTuka

20.A [Noun] kak [Noun]: A Typical [Noun]
OeHb KaK aeHb (9)

The structure [Noun] kak [Noun] gives the meaning a typical X; nothing to write home about; no great shakes,
etc.

Kurra kak kaura. A typical book.
[I¥BO Kak MHBO. Average beer, nothing special.
CTynéHTHl KakK CTyIEHTHL. Just ordinary students.

(Never said about Princeton students, koué4HO.)

20.B The Past: An ‘JI’ of a Tense

Examples of the Past Tense we’ve seen in previous lessons:

S ckaszan/a «4aii»! I said (M/F) “tea”!

Mps1 68un B Kanmudopaun. We were in California.

OH J1e:xa1 Ha CTOJIE. It (M) was lying on the table.
OHO OBUIO B XOJIOTMIIEHUKE It (N) was in the refrigerator.

The Past Tense is pretty easy in Russian. There aren’t that many exceptions, as there are in English." All the
endings begin in -J1-, s0 it’s our second consonant ending (the first one was the Infinitive ending -Tb).

SINGULAR PLURAL
MASC (51, TbL, 0H) | FEM (51, TBI, OHA) NEUT (oH0) ALL (Mbl, BbI, OHI)
) -na -J10 -

The distinction in the Present between person (s, Thl, OH ...) is replaced in the Past Tense by gender and number.
So, if someone shows you the form cka3dJa in isolation, you can’t tell if it refers to s1, TBI, or oH4. The only
thing you know is that the subject is one female.

Think about practically any common English verb, and we’ll bet you 20 to 1 that it has an irregular Past Tense: see/saw,
know/knew, do/did, drink/drank, buy/bought, go/went, ad infinitum.
Note that i softens unexpectedly in the plural: -am, just like ‘0’ in onii: Oni miau (hey it thymes — what a great

mnemonic).
I —
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Grammar

Lesson 20

Since the Past Tense endings begin with a consonant, we get the same results as we did when forming Infinitives:

V+C (harmony)

SINGULAR PLURAL
STEM MASC (s1, To1, 0H) | FEM (51, TBI, OHA) NEUT (oH0) ALL (MbI, BbI, OHW)
TOBOPH-+ TOBOPHII roBOpHIIa TOBOPHIIO TOBOPIIIH
CMOTpE+ cMOTpEn cMoTpéna CMOTPEN0 CMOTpPEH
Texa+ TIeXKAT Jexana TIEKATIO TN
MHCa+ TTUCAIT nucana MTHUCAIIO MTACATH
¢+C (truncation of final stem consonant)
SINGULAR PLURAL
MASC (s, 61, 0H) | FEM (51, TBI, OHA) NEUT (oné) ALL (Mbl, BbI, OHI)
paboTagi+ paboTan paboTana paboTaio paboTamu
3aHUMAfi+... CsI 3aHUMAJICS 3aHMMAJIACh 3aHUMAJIOCH 3aHHMAJTUCH
KHP+ KU Ka* KHITO KA

*Note the shift in stress in the verb skus+ - in the Feminine form. See below for more details on verbs and stress.

g@ Give the Past Tense oH / oHa / oHu forms of the following verbs:

1. uwmrai+ 2. TOBOpHU+ 3. nmexa+
4. Bumer 5. paborait+ 6. mnuca+
20.B The Verbal Suffix -cs

3aHMMal+...cs (3)

We’ve seen a few verbs so far that have the verbal suffix -csi: 3anumaii+...csa study yqﬁ+...cﬂ be a student.
Whenever the letter immediately preceding the ¢ is a VOWEL, ¢s1 = c¢b.

Ccs Vco

e.g.,  3aHUMAThCS, 3AHUMAIOTCS, 3aHUMAJICS e.g., 3aHMMAIOCh, 3aHUMAETECh, 3AHUMANIACH

YYUTKCS, YUUIIBCS, YIaTCs, YIHICST Yy4YCh, YIUTECh, YIWIUCH

So, you get -cb in the 51 and BbI forms of the Present Tense, and in all forms of the past except the Masculine.

We will discuss the actual meaning(s) of this suffix in a later chapter.
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Start with: On yunTes B IlprincTone.

1. = 2. THI 3. oHn 4. MBI 5. Mama

6. BEBI 7. Past Tense 8. Komus 9. oHn 10. 3aHuMAali+...cq
11. to1 (F) 12. BBI 13. I'ne6 14. Present Tense 15. =

16. MBI 17. TBI 18. TBOM néTH 19. BEI 20. IMama

20. Stress Patterns in Verbs

Just as with nouns, verbs can have either fixed stress (indicated by ") or shifting stress (indicated by *).
20.I'1 Fixed stress
Stress is the same throughout the Present, Past, and Infinitive. It can be on any syllable:

Fixed stress: ~

1*" CONJUGATION 2™ CONJUGATION
YyuTAK+ néH+ put roBoOpy+ BH/ie+
PRESENT TENSE
1sg YUTA 10 JICH Y rOBOP |10 BIDK Y
2sg qyTa ellb JIEH ellb TOBOD  HIIlb BUJI UIIIb
3pl YUTA | IOT JICH YT TOBOP AT BUJ ST
PAST TENSE
Masc YuTaA I Jie 11 TOBOP I BUJI €1
Fem upTa J1a e 1a TOBOp WA BUJI €J1a
Pl qyTa JIu e 1u TOBOP HJITH BUJ €JI1
INFINITIVE
9UuTa Th 7€ Th TOBOD UTh BUJI €THb
20.I".2 Shifting stress

With very few exceptions, shifting stress is limited to either the Present or the Past, i.e., with very few exceptions,
a verb will not have shifting stress in both tenses.

So how can we tell when the * refers to the Present Tense and when it refers to the Past? Below is a simple and
(usually) foolproof rule*:

3

We will need to modifz this later on, but for now this rule will be enou%h.
204



Grammar Lesson 20

Any 1* conjugation verb with an * means shifting stress in the PAST
(Stress shifts from the stem to the ending in the Feminine form only)

: Any 2" conjugation verb with an * means shifting stress in the PRESENT
i (Stress shifts from the ending in the 1sg to the stem in all the other forms)

Stress for the Infinitive is wherever the stress mark is written

All you need to memorize is WHICH verbs have shifting stress. This should be included on your index cards for
each verb.

Shifting stress: ~

1°" CONJUGATION 2™’ CONJUGATION
KUB+ WILIB+" sail CMOTpE&+ 001+
PRESENT TENSE
NO SHIFT SHIFT to stem in 2sg to 3pl
1sg KUB| Y TUTBIB| Y CMOTD 10 100 JIF0
2sg KUB | EIb IUIBIB €lIb CMOTp HIIIb JIF00 Wb
3pl KUB| YT IUIBIB YT CMOTD ST 00 AT
PAST TENSE
SHIFT to ending in Fem NO SHIFT
Masc KK T TUIBI JT CMOTp €I Jr00 | AT
Fem KU J1a IL/IBI JI4 cMOTp €a 7100 | 1a
Neut KU JI0 TUIBI JIO CMOTp | €110 7100 | W10
Pl KU 1 TUIBI JIH CMOTp | €11 Jr00 | AITH
INFINITIVE
KU Tb IJIBIL Th CMOTp €Th 1100 UTh

@ Past Tense. Listen and repeat:

Example:  cuné+ (Bops) [] Bops cuoén

gurait+ (Bépa) L] Bépa wumdna
1. xypi (Kars) 2. mupe+ (I'prma) 3. suaii+ (Unna)
4. pab6oraii+ (I1éts) 5. uwrait+ (Harama) 6. yuir cioBa (BHI)
ciymaii+ pamuo (Mpa) 8. cmorper Tenesmsop (1) (M) 9. mro6m+ umtars (Mama)
10. %uB+" B [IpuHCcTOHE (Mama) 11. KHB+ " B [TerepOypre (oH) 12. %uB+" B MoOCKBE (oHM)
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g@ Change the sentences into Past:

Example: Yro ThI (Bépa) nénaemb ceroaus? [] Ymo mel 0énana euepa?

1. CerO6aHs OH YATAET HEMELKHUH KYPHAIL. 2. Mpel cronm Ha OankOHE U KYPHM.
3. Pura (F) cer6us Bech AeHb CMOTPHT TEIEBU30DP. 4. Mowu OpaThs THOOST CIIATS (Sleep).
5. A (dvima) TOBOPIO O-KUTAKWCKH. 6. Ilodemy BBI JI€XUTE HA CTONE?

7. Mou cécTpbl CUIST Ha JUBAHE. 8. A (365) cinymiaro paauo.

9. MpuI xuBém B Kamudopuuu. 10. Yro BB némaere ceromausa?

You may not have known it (or cared), but we are using what is known as the ‘One-Stem Verb System’. The idea
is that, given a single form, the stem, you can predict every possible form of a verb. Basically it works very well
— otherwise we wouldn’t be using it.

Some verbs, however, don’t fit into this system as nicely. For these verbs you really need two stems, one stem to
which you attach vowel endings (the Present Tense and other stuff), and another stem to which you attach
consonant endings (the Infinitive, the Past, and other stuff). We’ll call these Double-Stem Verbs. (Very
original.)

The good news is that the stem to which vowel endings are attached (almost) always ends in a consonant, so you

(almost) always have harmonious C+V, and the stem to which consonant endings are attached (almost) always
ends in a vowel, giving harmonious V+C.

nbn+ < ‘C Stem’ (ends in consonant)
used with endings beginning with a vowel (e.g., Present), yielding C+V

nu+* «——— ‘V Stem’ (ends in vowel)
used with endings beginning with a consonant (e.g., Past, Infinitive), yielding V+C

Our notation: Double-Stem Verbs will appear in curly brackets { / }, with the consonant stem (used to form the
Present Tense) on the left and the vowel stem (used to form the Past Tense and Infinitive) on the right.

Some Double-Stem Verbs: {mpii+ / nﬁ+} drink {moii+" / mé+} sing {30B+" / 3B§+} call

See all the forms on the next page.
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Grammar Lesson 20
|

Double-stem verbs

Person/ | Ending | Pronoun {nbii+ / na+} {moii+" / mé+} | {30B+ / 3B§+}
Number drink sing call
C STEM (used with V endings): nbii+ nojwi+" 30B+’
PRESENT TENSE
1sg -{U} s BIO O¥0 30BY
2sg -{O}mb TBI 11891113 Mo&MIb 30BEMIb
3sg -*{O}r OH/OHA/OHO NBET HOET 30BET
1pl -*{O}m MBI bEM HoéM 30BEM
2pl -"{O}re BBI nbére noére 30BETE
3pl -{U}r OHH NBIOT HOKOT 30BYT
V STEM (used with C endings): i+ mé+ 3Ba+
PAST TENSE
Masc S | s1, TBI, OH M mnen 3Bl
Fem -j1a s1, ThI, OHA MHJIA néna 3BaJIa
Neut -J10 OHO MAJTO néno 3BAJIO
Pl -JIn MBI, Bbl, OHH AN néamn 3BANIN
INFINITIVE
-Th KT eTh 3BaTh
? | Question:  What can you conclude about the Present Tense conjugation (1 or 2'?) of all

double-stem verbs, given the fact that the stem to which vowel endings are
attached ends in a consonant?

Answer: (This answer to be filled in by you and answered in class)

% Put the double-stem verbs in the correct form. Begin with the Present Tense:

. X , . , , , ,
1. {meii+/ mu+} BuHO (MBI, oHA, KOs, BHI, THI, Bépa, Past, oH, MBI, OH4, THI-MHuIIIa, BI, BOps)
2. {moii+" / mé+} mécuu (s, Mbl, oHH, KOs, BEL, THI, Bopric, Past, oH, MBI, OH4, ThI-MHu1a, BbI, BOps)

3. {3akpOii+ / 3akprI+} (close) nBeps (s, Mbl, oHU, KOTs, BB, ThI, 1¢TH, Past, oH, MBI, OH4, ThI-MHIIa, Bbl, bOps)
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25 Exercise 1

JomaluHee 3agaHue

Answer the following questions about verbs and stress:

1. What is the pattern for shifting stress in the Present Tense? Provide an example.

2.  What is the pattern for shifting stress in the Past Tense? Provide an example.

3. Which type of verbs (conjugation type) NEVER has shifting stress in the Past Tense?

&5  Exercise 2

Mark stress on the following verbs:

Stem: Urpaii+ JepiKa+ IUIBIB+ yui+ nOMHH+
Conjugation:

| Urpao IEePKY HJIBIBY yay NOMHIO
OHI/’I UIrparT AcpixKat MJIBIBYT ydat IIOMHAT
OH urpaln Acpixal ITJIBIJI yaunia IIOMHUIJI
OHA urpaia aepxana b ydquia HOMHHIIA
MBI urpajau ACpiKaiau IIJIBIJIN ydauiu IIOMHHUIIN
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2< Exercise 3 Fillin either -cs1 or -cb:

1. S yuy B [IpriHCTOHE 2. Ero céctpsr yuat B ['apBape.
3. Buepa Mama 3anumana B OMOJIHOTEKE. 4. Hano 3aHUMATH !
5. T'nme BEI yuure ? 6. Buepa on nonro (for a long time)
JKATTOBAJT .(complained)
7. Buepa mbl )xanoBaIH . 8. T'me T 00B1YHO (usually)
3aHUMACIITh

2< Exercise 4 Put the following sentences into the Past:

1. Mg xuBém B [lpunCcTOHE.

2. T'me ona? (think about the verb)

3. Yro oH némaer?

4. S yuraro nuceMa.

5. OHH IOIOT KUTAICKUE TIECHU.

6. Bépa 3anumaercs B 6ubnnoTéke.

7. Moii oTél MbET aMEepUKAHCKOE MHBO.

8. T (Ibpa) TOBOPHIIIb MO-PYCCKU?

9. Bel cToute Ha 6anKOHE U KYpHTE.
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&S Exercise 5 Fillin the table:

Stem: {mbit+ / i+ } {MO#i+ / MBI+ } {Gep+” / Gpa+ }
PRESENT
s
BBbI
OHU
PAST
OH
OHA
OHU
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